


Item:

Location:

Order:

Building Project:

025300502
Play structure

List of screw connections

1293756

Page 1 / 3

Platform fastening to stainless steel post,37 x SFES1200001
nut on the side of the platform

per SC Total K&K-Item Marking

Lock nut M12 DIN985 A21 x 37 x 3430021
.

Cheese head screw with pin M12 x 1251 x 37 x 2030651
.

Platform at stainless steel posts7 x SFES1200004
 screw fixed by manufacturer

per SC Total K&K-Item Marking

Lock nut M12 DIN985 A21 x 7 x 3430021
.

Standard bolting of attachment parts132 x SFES1210001
(except platforms) to stainless steel posts

per SC Total K&K-Item Marking

Cheese head screw with pin M12x1401 x 132 x 2030168
.

Lean-to roof 0.8 m/1.6 m x 0.8 m round eaves1 x SFAS1240001
HPL-plates at stay tubes

per SC Total K&K-Item Marking

Washer Ø 10,5 DIN125 form B A25 x 5 x 3430014
.

Lock nut M10 DIN985 A25 x 5 x 3430048
.

white protective screw cap - lower part, M105 x 5 x 3300056
.

white protective screw cap - upper part, M105 x 5 x 3300057
.

Mushroom head screw  M10 x 35 DIN603 A25 x 5 x 3400024
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

025300502
Play structure

List of screw connections

1293756

Page 2 / 3

Fastening of HPL panels with rounded edges1 x SFAS1240012
to steel frame of tower-shaped roof 72°

per SC Total K&K-Item Marking

Dome head security screw-M10x30-Resistorx T45 A6 x 6 x 3400195
.

Washer Ø 10,5 DIN9021   A26 x 6 x 3430086
.

hexagon cap nut  M10 DIN986  A260 x 60 x 3430011
.

Washer Ø 10,5 DIN125 form B A260 x 60 x 3430014
.

mushroom head screw square neck M10x30 DIN 6060 x 60 x 3400138
.

(Short) Tunnel slide run-out section1 x SFXS1070011
stone bolt assembly

per SC Total K&K-Item Marking

M12x160
Set of stone bolts for slide run-out section6 x 6 x 1070365

.

Flange connection of tunnel slide sections2 x SFAS1070014

per SC Total K&K-Item Marking

hexagon cap nut  M10 DIN986  A224 x 48 x 3430011
.

Washer Ø 10,5 DIN125 form B A224 x 48 x 3430014
.

Cheese head screw  M10 x 30 DIN912 A224 x 48 x 3400162
.

Scramble up net / climbing net fastening1 x SFXS1230009
to prefabricated foundation

per SC Total K&K-Item Marking

Washer Ø 13  DIN125  A24 x 4 x 3430025
.

Hexagon screw M12 x 25 DIN933 A24 x 4 x 3400018
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

025300502
Play structure

List of screw connections

1293756

Page 3 / 3

Reinforcing steel for stainless steel posts12 x SFES1270001

per SC Total K&K-Item Marking

Reinforcing steel Ø 10 x 310 DIN 4882 x 24 x 2130000
.

Security TORX wrench TR401 x SFWZ0000001

per SC Total K&K-Item Marking

Security TORX wrench TR401 x 1 x 3490081
.

Hexagon insert socket driver 10mm 1/2"1 x SFWZ0000009
with borehole for Pin

per SC Total K&K-Item Marking

with drill hole for Pin
Hexagon insert socket driver 10 mm 1/2"1 x 1 x 2030170

.

Lubricating metal (30g box) incl. brush5 x SFWZ0000012

per SC Total K&K-Item Marking

Lubricating metal box 30g1 x 5 x 5300039
.

Brush for lubricating metal1 x 5 x 5200026
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24


